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TERM 3 
TRIAL HSC - ASSESSMENT TASK 3 

Mathematics Extension 1 

Sample Solutions 

Quick MC Answers 
1 A 
2 C 
3 D 
4 C 
5 C 
6 A 
7 C 
8 D 
9 B 
10 A 

NOTE: Before putting in an appeal re marking, first consider that the mark is not 
linked to the amount of ink you have used. 

Just because you have shown ‘working’ does not justify that your 
solution is worth any marks. 
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QUESTION 14 SOLUTIONS 

Comment: 

Comment: 

( )θ θ= + −

r(1.5) = 1.5V cosθ i + 1.5V sinθ −11.25( ) j
= 60i + 2.25 j

1.5V cosθ = 60

1.5V sinθ −11.25= 2.25

⎧

⎨
⎪

⎩
⎪

∴
V cosθ = 40 −(1)
V sinθ = 9 −(2)

(2) ÷ (1)⇒ tanθ = 9
40

∴θ 12°4 ′1

(1)2 + (2)2

(V cosθ )2 + (V sinθ )2 = 402 + 92

∴V 2(cos2θ + sin2θ ) = 412

∴

( )( )((



QUESTION 14 SOLUTIONS (Continued) 

Comment: 

r(t) = t ×V cosθ
40

i + t ×V sinθ
9
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j

= 40t i + 9t −5t2( ) j

9t −5t2 = 0⇒ t = 9
5
= 1.8

40×1.8 = 72

V cosθ = 40 V sinθ = 9



QUESTION 14 SOLUTIONS (Continued) 

Comment: 



QUESTION 14 SOLUTIONS (Continued) 

Note:

Alternative method over the page 
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QUESTION 14 SOLUTIONS (Continued) 

Comment: 

Vbead =Vsphere − Vcylinder − Vcap

Vcap = 2×π (169− x2 )
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= 2304π
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4
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πr3 Vcylinder = πR
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QUESTION 14 SOLUTIONS (Continued) 

Comment:

( )+ = + + + + +∈
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1+ x( )n = nC0 +
nC1x +

nC2x
2 + ...+ nCnx

n

∴n 1+ x( )n−1 = nC1 + 2
nC2x + ...+ n
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nC2 + ...+ n
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QUESTION 14 SOLUTIONS (Continued) 

Note:

Note:

Note:

Note:

Continued over the page 
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QUESTION 14 SOLUTIONS (Continued) 

Comment:
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